SR N R SMEEY I SRS T Ty

Lﬁi&é%ﬁ hEREL NEOFT BT
-~ PEEAE T 40%(F ] A 2%) B FEVHIIOFER A3 2L 2 FRAF
» RBl I~B 3R Bl 48D H I S S aEik >

T@YE_ @ LN o (¥ %A)
[
oo eee 0+ %% %5l 548411+ 14+ 17 + 20fr
i 2 ® 3 B4 = c
Pk | fn Y g gen | 100 EEFE30R
D% 3+ 7 o
QFHY x ¥EH y &~ FB Nysxhali
D1,4,7, 13,16 - - )
@ 1.,4,9, 25,36 -
s F sl y=20 Fx =10 > S#ciE
® 1,4 ,16, 256 -
y: <]
&2 2P oy cnlic @ F B 12~ - = &# y=10—x> §x =5/ » Sdki@
”ﬁ;:}-ljo y: o
, , 19, 23 - , )
13~ 42 & R 0~ > j&5 p A= % 350~ > ¢
I2I5I80 lx%?é’i’—’ﬁy;u0;ﬁ-f@,ﬂ’.ijrﬁ&$tﬁ;§
13 & :
L o g chii o #F B :‘E@i:%wﬁﬁ¢m
Lodl I~ FELHAPERL T 8 20 F 5 —31
3 _3 o ‘I\ﬂ' 35- g{ﬂ rru }L; o

, 21, 63, 189 -

, 25 QB ER > 2¥A LA
2 FE LB L 25 oW 16 FHihfri

 iH-3,1,5,9 AL : —80- RFI6FA__ -

3 FEAWFNHERL -8 AFE G 280 24
230 R E L HS R G 7 o

o e (aEHER)

$1F/%2F (% 5 & 3 340)



4 TR - B E AT R x o B
Mgty 4097 ¢
B~ xif 23 LS ol d 7 ity
F By~ ol 3 4% > By i s
@F $j Pl 5 2705 0 g~ RS -

S5~FE VRSO ERL 50 2 D20 Rt X
s ey 5 o

6% % LHAhF L5350 AL 5 5 Bl gk
& B4 S f e

ThF- EVEIISE 5 RL 3208 605
16 > % 12 4% 9 7 h ® o

8+ Fyi ¥ Hesidc WAL ERR,—3) R
Fx=—3@m > HadkEs o

9+ F- s d¥y=ax+b  tx=3FficiE I
11 & x=SpFha#icid 4.7 Bt - = Sk

Y

= o
I

10 ~ ¢ e Boy=ax+ bR A4t Bl 0 B -
Da+b=____ -
@% x=3pF > y=___ o Y
(0.2

(2,02

> X
TN\

¥ 2F/£2F

= 2L 5
= Y ¢ —Ef

L 12%(F 5 A B A
1~k g endicr EE£2 2R &S A5

Wbt % PR AZE 10 'é?’%-fﬁa‘ai?’ﬁ*‘u
ERELFIDERL P R LHE - &
Eehfic FREFERLES 156 27
A v 250 oo FH LR 05 2
Tehgic R 5 10 & R
D& > 7hgick 5 30~ 202%)

@z HENER L S 2T ?2(3%)

2~ JEA~10050F fEH? o R
D7 #EF 5B 20G%)
@uD > fipd#cF AL F 0 2 (4%)

(F 5 v 7 #F40)



